F594ERR—YVIRE LHER

FTHR24%10R18
BWIATBEABRRR—VIREE 5 —

AR — VRO 4 FR
59 4R AR— VIR U

A TR — 2 IR B B 0D 5% 57 HA R
FRk2 49 H 2208 (1) ~FFEIHA29H ()

e e 23 U= B SR
T2 48 9H29H (1) ROR4EIHA3OH (H)

IR Gl
VK244 10A2H (k) ~F25410H1H (K)

AR—=VIRHE S CORRKILONE A4

*BIG
B E R A& B B
Yo | BT renge) ROwR (7o =qF—n] |
B fke H

©) 9/29 TEKZ AL A 3 %1 N AAE 1
© 9/29 VN A YN - 4 %1 +H B 1
©) 9/29 TR Ly 7 AR 5 %f 0 LRI T R A 1
@ 9/29 KETNT 4 —T % 0 %f 0 FiRF - <V /X 0
® 9/29 VINZAVN 1 2 % 2 BE7 R —X 0
® 9/29 F CHIT 2 %t 1 Ya b uiEH 1
©) 9/29 A% e 2 % 3 NN 2
® 9/29 MivA 1 %t 2 WL X 2
© 9/30 ks C 1 %t 2 Uy 7 — L 2
9/30 HAF— 1 EEL 2 Xt 0 R R 1
@ | 9/29 JIg 7 a2 —L 1 % 0 o R— L AL 1
@ | 9/30 T T 4 AWK 1 % 1 BT = LT 4 0
@ | 9/30 T A VT 4 A ok FERY > AF. C. 1,0,2
® 9/30 FCHEHHELET 1 %t 3 KAy R =—X 2
(1) < UHEEOMIT M1 1 3R — A F—20905BTOME, 2] 3R —LF—LD0045MTOAIT,

o) iZzoft (51&431) - ER) #KT.,

WA KE YA O YIal (BIG) N4
) q=) G
1 % 600, 000, 000 4 4,566, 086, 148
2 % 852, 324 01 0
3 % 31,518 985 0
4 % 4,080 7,488 0
5 % 840 37, 369 0
S S - A (BIG) Mn% 4 ()
7e bagE () 1,551, 233, 700 1 %= 6,361, 105, 014
BEOE (0) 5,170, 779 A 0
BB (B0 1, 205, 253 3 % 0
4 % 0
5 % 0




*BIG100O

B e R A B R
o | BOE L hengea) HRamR S e TS I
BAfE H
D 9/29 TEAkT 2L % 3 %1 I ZAlE 1
© 9/29 VAN RN 4 %t 1 P77 B 1
©) 9/29 TAE Ly T 2 5 XxF 0 HHBT T A 1
@ 9/29 KETNVT 4 —T % 0 xf 0 BEIEF - ~VU /) A 0
® 9/29 YINZAVNT 2 % 2 BET R T—X 0
® | 9/29 F C Hig 2 X1 et 1 1
©) 9/29 A YIZ 2 %t 3 Ly VKK 2
9/29 LA v 1 xt 2 WLy X 2
©® | 9/30 WARS C 1 %t 2 vy v 74— LR 2
9/30 A F— LS 2 %t 0 RN 1
@ [ 9/29 A= e 1 % 0 2 Y N — LALIR 1
(JF) < UHEROHTF 11 TR —2F—209075MToOBE, 2] A —AF—LD905MTOHAIT,
o) Ix#oft (51437 - ) 2&7T,
WA KA WA K YIE] (BIG1000) D& 4
G q=) (M
1 %= 24,677,110 6 0
2 & 115, 216 177 0
3 % 11, 590 1, 756 0
4 % 1,340 10, 169 0
& = 5 A [a] (BIG1000) A4 ()
e k& (M) 271,910, 600 1 % 66, 489, 480
BEOH (0) 1, 359, 553 2 & 0
IR (B0 365, 645 3 % 0
4 % 0
mini BIG
B e &R 6 8 %
o | BT hengen) s (Fo=t7—n] | < EHE
B H
D 9/29 1EKT AL A 3 % 1 AN EAIH 1
@) 9/29 AN A AENIN = 4 % 1 W=l 1
@ | 9/29 TIVE Ly T AHE 5 %t 0 LR T RA 1
@ 9/29 KETNVT 4 —T % 0 %f 0 FREF - <=V A 0
® 9/29 VINPAVN 2 %t 2 BET Y hT7—X 0
® | 9/29 F CHg 2 &1 DER =T -1 1
@ | 9/29 RN VIZ e 2 % 3 NN 173 2
9/29 MrAn 1 %t 2 WL > X 2
@ | 9/29 N7 a2 —1 1 % 0 2 R — LALIR 1
(GB) < UHEEROMT M) 3R —2F =200 oML, (2] ZF—AF—20905BTOAT,

o) 1Tz (Gl - LK) 2RI,




o) iZzoft (5I&4m) - ER) 2KT,

e RV B A D WA (mini BIG) M4
(M) q=p; (M)
1 % 1,294,980 28 0
2 % 22,158 656 0
3 % 4,040 5,375 0
B = 45 i@t A A (mini BIG) IN%4: (H)
¢ b4&%E () 145, 037, 800 1 & 0
BEOH (1) 725,189 2 % 0
BeEERcE (B0 234,789 3 & 0
*toto
B e R A B R
o | A [hee i F— 1] A (7o=rgen] | U
B H
D 9/29 IHKT AL A 3 % 1 AN EAE 1
© 9/29 VA YN 4 %t 1 P77 B 1
@ | 9/29 TAE Ly T AR 5 %f 0 BRI T RA 1
@ 9/29 KETNT 4 —V ¥ 0 xf 0 BEIEE -~ U J & 0
® 9/29 VINZAVN 73 2 %t 2 EET v kT —RX 0
® 9/29 F CHK 2 % 1 Vo m 1
©) 9/29 N Z G 2 %f 3 NN 2
9/29 MrA v 1 %t 2 WL > X 2
© 9/30 WARS C I xt 2 V77— LR 2
9/30 HAF— VIR 2 %f 0 RN 1
@ [ 9/29 Jig 7o B —1 1 % 0 2 Y R — LALIR 1
® 9/30 BT T 4 AW 1o 1 WY = VTF 4 0
® 9/30 R LT 4 A Bk T~ AF. C. 1,0,2
(F) < UEEROMT M) 3R —2F—20900HToORL, 2] TR —AF—209075 M TOAIT,

Y A ARE YA 0 &IA] (toto) N 4>
(F1) (=) (F1)
1 % 15,534,916 4 0
2 % 90, 018 148 0
3 % 7,510 1,772 0
& = A5 A 1Al (toto) M4 (1)
7e kg () 177, 541,900 1 % 0
wEOH (A) 1,775,419 2 0
BB (B0 181, 653 3 4 0




o) iZzoft (5I&m) - LK) 2FKT.,

‘mini toto AM
B oE R A B B
o | BOE L hengea) HRamR S e TS I
BAfE H

©) 9/29 BT 2L A 3 %1 ST L= 1
© 9/29 VAN RN 4 %t 1 P77 B 1
@ [ 9/29 TNE Ly 7 A 5 %f 0 BRI T RA 1
@ 9/29 KETNT 4 —Vx 0 xf 0 BRIEE -~V /& 0
® 9/29 VUPZAVYN 2 xf 2 BE7 v hT7—X 0
(JF) < UHEROHF 11 TR —2F—20907MToOBE, 2] A —AF—LD905MTOHAIT,

Y A5 Ry kA (mini toto AH) HN%E4:
(F1) () (F1)
e 24,128 447
S A (mini toto AR) N4 (M)
e e (1) 21,571, 300 1% | 0
HEOH (1) 215,713
Bt (Bo) 40, 476
*mini toto B#
BoE R & O B
o | 2 8 bheng—al WO (7= qr—n] | < EFF
B H
) 9/29 F C 2 X1 Va b uH 1
© 9/29 B AN IZ =) 2 xf 3 Ly VKR 2
® 9/29 MivA 1 %t 2 WL > X 2
@ 9/30 WiksS C 1 %t 2 Uy 74— LHF 2
® 9/30 HAF— L BE 2 %t 0 PR NEHE 1
(X)) < UHEEOMT 1] 1 3R —AF—2D905MTOMBE, 2] TR —LF—LD05MTOAIT,
o) Ix#oft (51451 - k) 2%7,
Y A ARE VA O IE] (mini toto BfA) %4
(F1) q=p (F1)
1 & 7,001 1,038 0
o= A F 28] (mini toto Bf) MNEL4 ()
e LaE (1) 14, 535, 700 1 % | 0
HEOH (1) 145, 357
Bempet (Ko 28, 859




*totoGOALS3

fi

ol 5 M R

Pr1E B

&

[F—2aF—2]

(7T =14 F—2]

ENER S

< Uik

9/29

TIVE Ly 7 R

BT T RA

9/29

KRETNT 4 —T%

BRRF -~ U /A

9/29

I AVN

N OIiO|Oiw

SIS CHElCHS)

BEET7TY FT7—X

NDIN|OIO|O: ol

2

() < UHEER M T0) 13905 TOEF— L2058 T05]

(2] X905 TOETF —LDEL T248] |

(1] 12900 M TORTF— L08R T8

3] 1Z905 M TOEEF—LDEE 1350 1) #FKT,

R e E RV VISE KAl (totoGOAL3) N4>

(M) (m) (M

1 % 596, 540 16 0

2 % 14, 860 428 0
B o= A5 it A [a] (totoGOAL3) MN% 4 (M)
g¢ b4&%E () 31, 809, 800 1 4 0
BEOH (1) 318,098 2 % 0

BB (K0 46, 158




